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-3 Arithmetic

Section 5.9 Working with numbers in standard form ——

Example 1

Express each of these in standard form:

. .. (6X10% X (4.5 X 10%
3 _ 2
(i) 2.76 X 10 59X 10 (ii) 13 % 107




Exercise 5.9

Calculatar  [sHIFT] [10g]

1. Write each of the following as a decimal number:
(i) 6X 102 (i) 4.5 X 102 (iii) 6.8 X 103 (iv) 5.1 x10*
(v) 6.7 X10* (vi) 5.16 X 10? (vii) 7.05 X% 10° (viii) 1.86 X 10*

Exercise 5.9

2. Write each of these numbers in standard form:
(i) 400 (i) 580 (iii) 6200 (iv) 5700
(v) 60000 (vi) 76000 (vii) 92000 (viii) 720000




Exercise 5.9

3. Change these numbers to decimal form:
(i) 25x107" (i) 61072 (iii) 4.8 X 1073 (iv) 9.2x10°*

Exercise 5.9

4. Write these numbers in standard form:
(i) 0.04 (i) 0.062 (iii) 0.007 (iv) 0.0065




Exercise 5.9

5. Write these numbers in standard form:
(i) 0.0079 (iii) 0.0006

(i) 0.008

Exercise 5.9

6. Which of these numbers are written in standard form?

A

(iv) 0.00053

2.5 X 10°

48 X 102

?3.5 X 100000

? 0.34 X 24




Exercise 5.9

7. Work these out and express your answers as decimal numbers:
(i) 3.8X10%2+1.7X%X10° (i) 1.76 X 10 + 6.43 X 102
(iii) 8.4 X 10— 1.7 X 10? (iv) 6.64 X 102—94X10

Exercise 5.9

8. Evaluate each of the following and give your answers in standard form:
(i) (3.6 X10% X (1.5 X 10% (i) (4.6X10% X (3.7X107")
(iii) (3.64 X 1072) X (9 X 109 (iv) (1.8 X 1074 X (8 X 10°)




Exercise 5.9

9. Write each of these in the forma X 10", where1 <a<10,n € Z:

8.4 X 10°
1.2 X 10?2

9 %X 104

4.48 X 103
1.5 X 10?

(i) (ii) (i) S o

Exercise 5.9

10. Write these in standard form:

1.4 X 10% + 5.6 X 102
7 X107

(6.4 X 10%) + (8.2 X 10%

U 1.033 X 102

(if)




Exercise 5.9

11. Work out each of these without using a calculator.
Give your answer in standard form.

4 %X 103
8 X 10°
1.6 X 10° 8 X 10*
8x 107 V)

(i) (5.4X10°) X (3 X109 (ii)

(iv)

Exercise 5.9

12. The Earth’s diameter is 1.27 X 10*km and the diameter
of Mars is 6.8 X 103 km.
(i) Which planet has the larger diameter?
(ii) What is the difference between their diameters?
(iii) What is the total if the two diameters are added?
Give your answer in standard form.

1.6 X 10°

Mercury

Venus

(iii)

(vi)

4% 10°
5X 108

4.8 X 1072

3X 103




Exercise 5.9

1.2 X 108 X 3.6 X 10°

18 % 10° in standard form.

13. Express

Exercise 5.9

f 5.1 X 108+ 19 X 107
1.4 X 10"

14. Calculate the value o
number.

and write your answer as a decimal




Exercise 5.9

15. This table shows the organised religions
with most members in the year 2000.

Write the number of Buddhists
in decimal form.
Which religion had the most members?
Which religion had the fewest members?
The number of members of one religion
is slightly more than half the number of
members of another religion.
Which two religions are they?

Exercise 5.9

16. Write each of these as decimal numbers:

6.8 X 10® — 5.2 X 102

M 32X 102

(ii)

Religion

Members

Buddhism

34 X108

Christianity

1.92 X 10°

Confucianism

6.37 X 10°

Hinduism

7.67 X 108

Islam

1.04 X 10°

1.12 X 1072 X 9.8 X 10°

1.4 X 10?




Answers 5.9

(i
(iv,
(vii) 7050 (viii) 18600
(

600 (i) 450
51000 (v) 67000

)

)

)

i) 4 X 102 (ii)
(i) 6.2 X 103 (iv)
(v) 6 X 10* (vi)
(vii) 9.2 X 10* (viii)
(i) 0.25 (i)
(iii) 0.0048 (iv.
(i) 4 X 1072 (ii)
(ii) 7 X 1073 (iv)
(i) 8 X 1073 ii
(iii) 6 X 107*

162>< 108

(m) 1.95 X 10*

. 24 X 10
. 0.0005

(i) 340,000,000

(i) Christianity

(iii) Confucianism

(iv) Islam and Christianity
(i) 19.625 (ii)

(i) 6800
(vi) 516

5.8 X 10?
57 X 103
7.6 X 10*
7.2 X 10°
0.06
0.00092
6.2 X 1072
6.5 X 1073
7.9 X 1073
53X 10°*

660.6

570

1.702 X 102
1.44 X 102
6 X 102

8 X 10?
5% 1073
2 X 10
1.6 X 107>
5900 km




